[01~05] BoI= LEIZZ, LEIZ2 S0IZ MM,
01 economy

02 deal

03 borrow

04 42, 22

05 x|l T

[06~11] L2210t 22 20| EIS=S HITH0 22 THOIE MM,
06 M= A=z} account

07 ot™=l 421 a(n) income

08 xjrte mort make a(n)

09 HZo| Maket of the product

10 Yeixiel 43 success

11 X|£2 zo0|ct reduce a(n)

[12~15] RIA0 222 EIOIE FOITI EXIZ AIFGI0| AMIS.

12 1o the bank 1,000 dollars now.

13 Sandral me some money last month.

14 Kate doesn'tr her parents for money.

15 0 , the workers of the company earn 300 dollars per month.

[16~20] LIS 25 CH0H 01T KIAIGH S HI EITHS KHLAMIL.
16 poor 7{tst - (2ke|of)

17 costH|g - (82/0f)

18 profit 02} ~ (gt2of)

19 provide ZZ3ITt ~ (R290)

20 outcome Z1} - (£2904)
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